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0,1] yopa nma foy:[0,]] > R tx nirg7zn nnmaanwa f:R" >R ox (2
NN nron yo f:[0,1] > R" v nowx f:[0,1] —[0,1] ox (

(t€[0,1]) mixan Ni7'onn IR DX IRXN
7(t)=(2+4t,1+5t2,9+3t) (X
y(t)=(sin(xt),cos(xt), 2z +xt) (2
y(t)=(4sin(t),cos(2t),sin(2t)-2t+3) (a

2 (t €[0,1]) nixan ni7'onn 7y 0'RAN D"IEN D'70A01'RN NIX 1AWN
y(t)=(t.t22t), f(xy,z)=zy-xy (X

7(t)= (sin(27zt),cos(27zt)), f(x,y)=4x2y2(x2+y?) (a
y(t)=(t,1212), f(x,y,z)=xe""+sin(zx*-y?*) (a

2 (t €[0,1]) nixan ni7'onn 2y 0'RAN O™MIVRPIN D'77201'KN DX 1AWN
y(t)=(t,t2,3t), f (x,y,2) =(2x2—y,3xsin(xz - y),2ysin(y-3x?)) (x
y(t)=(sin(2zt),cos(2xt)), f (x,y)=(x+2x2+y%2xy+Yy) (2

y(t)=(tLt3t2+1), (X, y,z):(xsin(z—x),x2cos(x2),tan((x+ y)/2)) (a

f(x,y)=@U,v) ,f:R* > R? nam R"-a (#(0)=y(1) ni?d) miao np7n n7’on N
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7701RN TR UG =V DAL UG =V, DAL IV (I TA1 X' NNYY DX DONIN X7y DR (R
NTIP Uy —V, 7¢ 77N 7190 n7'onn (M2 XN oW NIN n7onn v f 5w Mo
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DTN [IVWN D T2 XY DX NONIN K7y oKX, R? %W no'on nnxa apnun A 'an (@
Jrn A 7¥ NV1INNVTN DX 71 DX [IYYD (1D T2 NNXY NIX NONIN X7 A(y)

T 71 y'nn ,nox g:[0,1] —>[0,2] -1 pywn [ Ta anxy NX NONIN X7 ¥ DR (A
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